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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2013
PART-III

EDUCATION - Honours
Paper- VI

Duration : 4 Hours Maximum Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate Sfull marks.

GROUP - A
et -3
1. Answer any one question from the following : 1 x20=
@ @i 9o 2 Ted e ¢
a) Explain the concept of educational evaluation. Discuss the need of evaluation
in education. . 10 + 10

W@quﬁwmwnﬁmﬂm@mﬁ@w«w

b) What is meant by validity of a test ? Discuss briefly the different types of

validity. What is the relation between validity and reliability ? 4+10+6

seoEr el wre F @R ?ﬁﬁmmﬂm@ﬂtmﬂwmwwm@e
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2, Answer any three questions from the following : 3x5=15

@ > foqfd 2maa Seg fm

a) State in brief the different scales of measurement with example.

Bwtegepi sl f{ifon cratefd scewd fige s |

b) Make a classification of objective type test.
ffes sera afiRes o |
) Mention the characteristics of a standardised achievement test.

wvifire simi*fer s e eeiR Srae o |
d) Write a short note on criterion-referenced test.

Criterion-referenced o I 7<% Gl o1 |

e) State the disadvantages of essay type test.
I SRR PRl Rigw |
3. Answer any five of the following questions : 553 =15

@ (I 56 2w Teg fue ¢

a) Define educational measurement.

rwrgerss sifasiicsia sigeat faw |
b) What is cumulative record card ?

g Sifany ol [ 2
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c) What is norm-referenced test ?
i fefes e & 2
d) What is observational technique of evaluation ?

TECAR. AL (F1e1aT < 2
€) Why is scoring key used in a test ?
e (HifR [ e I W (@A 2

f) What is meant by item analysis of a test ?

SSTTR o7 fRvse Feice 6 @ e
g) What is meant by difficulty value of a test ?

S IFR IO [ Felce S @R 2
GROUP - B

faetet -4

4. Answer any one question from the following : 1 x20=20

(@ (P @b 2ead Oed v

a) (i) What is meant by measures of variability ? What are those ? Mention

’l their uses. 3+3+3
|
} fRrsTeia e [ 2 Gl & 6 2 clef akeR S |
| (ii) Calculate @ and SD of the following distribution : 4+4
Scores 0-10 10-20 20-30 30-40 40-50 50-60 60-70 | 70-80
f 5 7 14 12 9 6 5 2

60

N=
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fea fereaita Q wag SD fAefa T ¢

‘ = g -
f

i 1
4

| Scores 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
f 5 7 14 12 9 6 5 2
N = 60
(ili) The mean of 20 items is found to be 10. Later it was found that one item
8 was included by mistake. Calculate the correct mean if the wrong item
is replaced by 12. 3
20 B /v e 10; 7ta M2 (9161 93 2% 8 Hoaxe T 2z | T o)
smibce 12 ea efegs a1 31 , ol AT 1% T 23 2
b) (i) What is Ogive ? What are its uses ?
Ogive J&1(S & (@RI ? @3 IR & 2
(ii) The scores obtained in an achievement test by Boys (B) and Girls (G) are
given below :
Scores | 35-39 | 40-44 | 45-49 50-54 55-59 | 60-64 65-69 70-74 75-79 | 80-84
SofB 1 11 10 19 18 20 16 9 8 8 N =120
fof G 4 10 16 23 15 12 10 8 7 5 N=110
Plot Ogives of the two distributions B and G on the same axis. From Ogives
determine the PR of scores 56 in B and G. What per cent of G exceeds P75 of
B? 4+8+4+4
feitos aBG0e =1 (B) € QIR (G) Mo SSTHIA 2iig (FIN (1S3l BIiCR 3
Scores | 35-39 | 40-44 | 45-49 50-54 55-59 | 60-64 65-69 70-74 75-79 | 80-84
Bl f 1 11 10 19 18 20 16 .S 8 8 N =120
G f 4 10 16 23 15 12 10 8 7 5 N=110

O3, OF A FE@ B € G T4 {59 SEITS GFA 96 | SEIRS B € G (AF 56 (HEH

PR A5 61| G 93 T ¥t B «< P, SIS ?
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Answer any three of the followihg questions :

- foaf arae Seg fuw ¢
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S x:h=nlh

a) Mention the uses of statistics in education.
R ERIRIS e RITRERT el
b) The mean of the following distribution is 87-5. Calculate the unknown
frequency.
Scores 40-59 60-79 80-99 100-119 120-139
S 50 x 500 150 50
058 35104 1C 87-5; SisifEe sifdwen® Refa we |
Scores 40-59 60-79 80-99 100-119 120-139
& 50 2 500 150 50
c) Students of certain locality use the following means for travelling to school.
Mode : Train Bus Rickshaw Car Walk
No. of Students 80 50 40 10 60
Present the information by a pie-chart.
@3 Srerer Frmdia Ruger arerces om) FRfalis g sersw 0 |
g (G v et NG 26!
IRKRIERS) 80 50 40 10 60
wUfb pie-chart 93 ST So{FI2fw 3+ |
d) What is called central tendency ? When to use different measures of central
tendency ?
(FUIY AT FIE A& ? (U o 2Afimsiafz @D @ a7z 23 2
€) Following are the ranks given by two judges to 10 participants in a competition.
Compute the correlation coefficient.
Participants A = D E F G I J
Rank by 1st judge : 1 5 3 2 10 -+ 9 6
Rank by 2nd judge : 2 1 8 5 8 7 4 10| 9
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@35 fsrifer vem RER 7idl 10 T SHeeiSIRIE oawe 1% Fame | seifon wzas
faef @z | :

ST AR e D E £ Lo By b
22y 5T 2ne = 1 5 3 2 D | 4181918
o o ame s 2 1 3 5 8 7 4 | 6 |10] 9
6. Answer any five questions : 65x3=10

A-cIel #iefo 2oz Bwa e 2 : ,

a)

b)

c)

d)

€)

Mention the characteristics of normal probability curve.

Freliie AR (wTfbran gl Say s |

Give one example each of positive, negative and zero correlation.
{AIRE, AN @ *[7) 7Zoifed 2ifisfoa «ﬂﬁw@mﬂﬁm u

What is kurtosis ?

FIcoioe [ 2

What is meant by Skewness ?

FI 60O [ (@R 2

In a test the mean score of 50 girls is 36 and the mean score of 70 boys is 42,

what is the combined mean of boys and girls ?

G0 TS Y sowaﬁa%m36&a2-70wmmw42|memwﬁw

T I TS ?

What is meant by 75% rule in graph ?

@Afota 75 % s ge1ce [ @R ¢
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g) The scores obtained by a student in Mathematics and English are 80 and 40
respectively. Find the subject in which he performed better by converting the

scores into Z-scores. Given that
Mean x SD in English is 30 x 20 and
Mean x SD in Mathematics is 90 x 20.

QT Td SCE 80 9% TGS 40 (IR | (BRSFE Z - RS 7 ¢ (@

ﬁm@a&ﬁm@ﬁvfawn ST SR -

351G mean x SD Z& 30 x 20 &R

IF4 Mean x SD 2&1 90 x 20.




